


Tightening torques in Nm

Screws without collar (a) M1231.5370 secured by micro-encapsulation 85
Screws with collar (b) M12 x 1.5 x 70 secured by micro-encapsulation 110
Screws M12360 secured by micro-encapsulation 85
Nut M10 self-locking 43



The Installation Instructions are sub-divided into the following sections:

A. Installing electrical parts with 7-pin socket (without constant current line terminal 30), vehicles up to approx. 
07/86

B. Installing electrical parts with 7-pin socket (without constant current line terminal 30), vehicles starting 
approx. 08/86

C. Installing electrical parts with 13-pin socket and constant current line terminal 30, all vehicles

D. Installing trailer coupling

E. Wiring diagrams

F. Parts ordering note

A. Installing electrical parts with 7-pin socket (without constant current line terminal 
30), vehicles up to approx. 07/86

1 Disconnect ground line on battery.

2 Remove left hand front seat.

3 Remove rear seat cushion.

4 Remove left hand covers on front and rear 
entrance.

5 Remove lower panelling on left hand center pillar.

6 Release left hand belt end of front safety belt.

7 Remove left hand fastening clips of rear floor 
covering.

8 Force off left hand outer covering (a) and 
unscrew hinge (b).

9 Remove spare wheel cover and spare wheel.

10 Remove left hand panelling of rear wheel 
assembly.

Joe Knight
Note
Skip this section. Go to section B on page 8.



11 Raise cargo floor (a) and cover (b) underneath, 
removing clips (c) for this purpose.

12 Open right hand side wall flap and remove fluid 
container for rear wiper.

13 Remove covers (a and b) under instrument panel.

14 Remove instrument cluster (c).

15 Remove lining of left hand front wall pillar.

16 Mount holder to front wall pillar.

17 Fasten plug of rear auxiliary harness to holder by 
means of clips.

18 Press 4-pin plug of front auxiliary harness on plug.

1 Holder
X52 Plug connection trailer coupling

(front/rear auxiliary harness)



19 Remove cover from fuse and relay box.

20 Loosen fuse carrier.

21 Pull the three lines with the cable shoes from front
auxiliary harness into fuse and relay box.

22 Connect lines according to identification, e.g. 
identification 8 on fuse 8 output (refer to wiring 
diagram page 26).

23 Fasten fuse carrier and close cover of fuse and 
relay box.

24 From auxiliary harness, install lacing with socket 
to cutout of instrument cluster and insert green bulb 
into socket.

25 Insert plug socket (arrow) into instrument cluster 
connection 2.

26 Install instrument cluster, while inserting socket 
with bulb into plug (arrow) for check lamp.

27 Mount intermediate plug of auxiliary harness 
between harness and stop lamp switch or on vehicles 
where intermediate contact has already been made to 
the stop lamp switch, disconnect harnesses and 
install new harness from stop lamp switch to fuse and 
relay box instead and fasten laterally with clips. Then 
connect all harnesses to multiple plug connection, stop
lamp switch.

X20 Plug connection stop lamp switch



40 Harness
F1 Fuse and relay box
S9 Stop lamp switch
X21 Multiple plug connection stop lamp switch

28 Install rear auxiliary harness from plug connection 
(52) along main harness up to spare wheel well. For 
this purpose, lift floor covering and insert auxiliary 
harness into cable duct.

29 Screw control unit for trailer flasher to holder.

2 Holder
3 Screw B4.238.5
N28 Control unit for trailer flasher

30 Screw trailer flasher (turn signal) control unit with
holder to rear left hand side wall (arrow, screw M 6x20
and nut M6). On vehicles with sliding roof the holder is
mounted between the sliding roof motor and the side 
wall.

2 Holder



31 Plug 8-pin connector to control unit trailer flasher.

32 Connect ground line at ground point.

N28 Control unit for trailer flasher
W6 Ground, trunk Wheelhouse left.

33 Install left hand intermediate plug of auxiliary 
harness for plug connection of left hand tail lamp unit
and mount.

X57/1 Plug connection tail lamp left/trailer coupling

34 Remove intermediate plug for right hand tail lamp 
and pull auxiliary harness through reinforcement of 
side member into spare wheel well.

a Wheelhouse rear left.
b Reinforcement on side member

35 Pull auxiliary harness from spare wheel well 
through side member.

36 Remove rubber grommet in cargo floor and insert 
new rubber grommet. Then pull lacing for socket 
through rubber grommet. 

6 Rubber grommet



37 Install lacing (cable) for right hand tail lamp to 
right hand side member. If no cutout similar to left 
hand side is available, drill hole (14 mm dia.) into side
member and insert rubber grommet. Pull auxiliary 
harness through grommet.

38 Fasten auxiliary harness to cross member.

7 Clamp
8 Rubber grommet
a Adhesive tape

39 Pull auxiliary harness similar to left hand side 
through reinforcement of side member and install 
toward plug connection for right hand tail lamp.

40 Insert auxiliary harness and loose plug sockets 
again into intermediate plug (refer to wiring diagram 
page 26) and mount intermediate plug.

X57/2 Plug connection tail lamp right/trailer coupling

B. Installing electrical parts with 7-pin socket (without constant current line terminal 
30), vehicles starting approx. 08/86

1 Disconnect ground line on battery.

2 Remove left hand front seat.

3 Remove rear seat cushion.

4 Remove left hand covers on front and rear 
entrance.

5 Remove lower lining on left hand center pillar.

6 Loosen belt end of front safety belt at the left.

7 Remove fastening clips of rear floor covering at 
the left.



8 Force off outer cover (a) at the left and unscrew 
hinge (b).

9 Remove spare wheel cover and spare wheel.

10 Remove lining of rear wheel housing at the left.

11 Raise load space floor (a) and cover (b) 
underneath, removing clips (c) for this purpose.

12 Open side wall flap at the right and remove fluid 
tank for rear wiper.

13 Remove covers (a and b) under instrument panel.

14 Remove lining of left hand front wall pillar.

15 Mount holder on front wall pillar.

16 Clip plug of rear auxiliary harness to holder.

17 Press 4-pin connector of front auxiliary harness on
plug.

1 Holder
X52 Plug connection trailer coupling

(front/rear auxiliary harness)



18 Remove cover from fuse and relay box.

19 Loosen fuse carrier.

a Fuse carrier

20 Pull off combination relay (N10) and unclip relay 
holder.

21 Pull front auxiliary harness from footwell  into fuse
and relay box.

22 Insert plug socket of front auxiliary harness into 
available opening at bottom of connector (assignment 
7) for combination relay (N10).

23 Fasten relay holder.

24 Plug on new combination relay (N10/2).

25 Connect lines with cable shoes according to 
identification, e.g. identification 8 on fuse 8 output 
(refer to wiring diagram page 27).

26 Fasten fuse carrier and close cover of fuse and 
relay box.



27 Mount intermediate plug of auxiliary harness 
between harness and stop lamp switch or on vehicles 
where intermediate contact has already been made to 
the stop lamp switch, disconnect harnesses and 
install new harness from stop lamp switch to fuse and 
relay box instead and fasten laterally with clips. Then 
connect all harnesses to multiple plug connection, stop
lamp switch.

X20 Plug connection stop lamp switch

40 Harness
F1 Fuse and relay box
S9 Stop lamp switch
X21 Multiple plug connection stop lamp switch

28 Install rear auxiliary harness of plug connection 
(X52) along main harness up to spare wheel well. For 
this purpose, raise floor covering and insert auxiliary 
harness into cable duct.

1 Holder
X52 Plug connection trailer coupling

(front/rear auxiliary harness)



29 Plug 6-pin connector of rear auxiliary harness 
(arrow) on trailer monitoring control unit.

30 Place trailer monitoring control unit into foam cap,
then close foam cap with rubber band.

2 Foam cap
N28/1 Trailer monitoring control unit

31 Screw foam cap to rear left hand side wall (arrow,
screw M6 x 20 and nut M6). On vehicles with sliding 
roof mount holder between sliding roof motor and side 
wall.

2 Holder of foam cap

32 Connect ground line at ground point

2 Foam cap
3 Rubber band
W6 Ground, trunk wheelhouse, left

33 Install left hand intermediate plug of auxiliary 
harness to plug connection for left hand tail lamp and 
mount.

X57/1 Plug connection tail lamp left/trailer coupling



34 Remove intermediate plug for right hand tail lamp 
and pull auxiliary harness through reinforcement of 
side member into spare wheel well.

a Wheelhouse rear left
b Reinforcement on side member

35 Pull auxiliary harness from spare wheel well 
through side member.

36 Remove rubber grommet in cargo floor and insert 
new rubber grommet. Then pull lacing for socket 
through rubber grommet.

6 Rubber grommet

37 Install lacing for right hand tail lamp to right hand
side member. If no cutout similar to left hand side is 
available, drill hole (14 mm dia.) into side member and
insert rubber grommet. Pull auxiliary harness through
grommet.

38 Fasten auxiliary harness to cross member.

7 Clamp
8 Rubber grommet
a Adhesive tape

39 Pull auxiliary harness similar to left hand side 
through reinforcement of side member and install 
toward plug connection for right hand tail lamp.

40 Insert auxiliary harness and loose plug sockets 
again into intermediate plug (refer to wiring diagram 
page 27) and mount intermediate plug.

X57/2 Plug connection tail lamp right/
trailer coupling



C. Installing electrical parts with 13-pin socket and constant current line terminal 30, 
all vehicles

1 Disconnect ground line on battery.

2 Remove left hand front seat.

3 Remove rear seat cushion.

4 Remove left hand covers on front and rear 
entrance.

5 Remove lower lining on left hand center pillar.

6 Loosen belt end of front safety belt at the left.

7 Remove fastening clips of rear floor covering at 
the left.

8 Force off outer cover (a) at the left and unscrew 
hinge (b).

9 Remove spare wheel cover and spare wheel.

10 Remove lining of rear wheel housing at the left.

11 Raise cargo floor (a) and cover (b) underneath, 
removing clips (c) for this purpose.

12 Open side wall flap at the right and remove fluid 
tank for rear wiper.

Joe Knight
Note
Skip this section.  Go to section D, p. 20



13 Remove covers (a and b) under instrument panel.

14 Remove lining of left hand front wall pillar.

15 Mount holder on front wall pillar.

16 Clip plug of rear auxiliary harness of holder.

17 Press 6-pin connector of front auxiliary harness on
plug.

18 Connect red line to terminal block (X4) terminal 
30.

19 Remove cover from fuse and relay box.

20 Loosen fuse carrier.

X4 Terminal block terminal 30,
fuse and relay box

21 Pull off combination relay (N10) and unclip relay 
holder.

22 Pull front auxiliary harness from footwell into fuse
and relay box.

23 Insert plug socket of front auxiliary harness into 
available opening at bottom of connector (connection 
7) for combination relay (N10).



24 Install red and red/black line through fuse and 
relay box into unit comparment.

25 Insert jacks according to identification into 
connector and close connector.

21 Front auxiliary harness
36 Connector
37 Holder
38 Cover
F22/1 Auxiliary fuse holder trailer coupling, seat heater

26 Mount holder with screw M8 x 12 and nut M8 on 
spring strut dome and fasten connector with clips.

27 Plug on auxiliary fuse holder (F22/1) and mount 
fuse element (16A).

28 Mount cover of auxiliary fuse holder.

29 Fasten relay holder.

30 Plug on new combination relay (N10/2).

31 Connect lines with cable shoes according to 
identification, e.g. identification 8 on fuse 8 output 
(refer to wiring diagram on page 28).

32 Fasten fuse carrier and close cover of fuse and 
relay box.



33 Mount intermediate plug of auxiliary harness 
between harness and stop lamp switch or on vehicles 
where intermediate contact has already been made to 
stop lamp switch, disconnect harnesses and install 
new harnesses from stop lamp switch to fuse and 
relay box instead and fasten laterally with clips. Then 
connect all harnesses to multiple plug connection, stop
lamp switch.

X20 Plug connection stop lamp switch

40 Harness
F1 Fuse and relay box
S9 Stop lamp switch
X21 Multiple plug connection stop lamp switch

34 Install rear auxiliary harness of plug connection 
(X52) along main harness up to spare wheel well. For 
this purpose, raise floor covering and insert auxiliary 
harness into cable duct.

1 Holder
X52 Plug connection trailer coupling

(front/rear auxiliary harness)



35 Attach 6-pin connector of rear auxiliary harness 
(arrow) to control unit trailer monitoring.

36 Place trailer monitoring control unit into foam cap,
then close foam cap with rubber band.

2 Foam cap
N28/1 Trailer monitoring control unit

37 Screw foam cap to rear left hand side wall (arrow,
screw M6 x 20 and nut M6). On vehicles with sliding 
roof, the holder is mounted between sliding roof motor 
and side wall.

2 Foam cap holder

38 Connect ground line to ground.

2 Foam cap
3 Rubber band
W6 Ground in trunk, left rear wheelhouse

39 Install and mount left hand intermediate plug of 
auxiliary harness for plug connection of left hand tail 
lamp.

X57/1 Plug connection, left tail lamp/
trailer coupling



40 Remove intermediate plug for right hand tail lamp 
and pull auxiliary harness through reinforcement of 
side member into spare wheel well.

a Wheelhouse rear left
b Reinforcement on side member

41 Pull auxiliary harness from spare part well through
side member.

42 Remove rubber grommet in cargo floor and insert 
new rubber grommet. Then pull lacing for socket 
through rubber grommet.

6 Rubber grommet

43 Install lacing for right hand tail lamp toward right
hand side member. If there is no break-through such 
as at the left, drill hole (14 mm dia.) into side member
and insert rubber grommet. Pull auxiliary harness 
through hole.

44 Fasten auxiliary harness on cross member.

7 Clamp
8 Rubber grommet
a Adhesive tape

45 Pull auxiliary harness through reinforcement of 
side member as at left and install toward plug 
connection for right hand tail lamp.

46 Reinsert auxiliary harness and loose jacks into 
intermediate plug (refer to wiring diagram page 28) 
and mount intermediate plug.

X57/2 Plug connection, right tail lamp
trailer coupling



D. Installing trailer coupling

1 Remove rear bumper.

2 Remove rear part of exhaust system as from 
flange connection (arrow).

3 Remove underfloor protection on rear cross 
member of rear center piece in marked range of 
underfloor protection.

Note:
On vehicles as of approx. 02/87 the four bores for 
cross member of trailer coupling are marked in 
indicated range by 4 mm dia. holes in cover panel.

4 On vehicles up to approx. 01/87 position cross 
member of trailer coupling on rear center piece below 
and align. Mark the four fastening holes (arrows).

5 Remove cross member.

6 Drill fastening holes (18 mm dia.).

7 Paint bright body parts with zinc dust paint.



8 On trailer couplings with rigid ball neck, screw ball
neck to cross member.

9 Tighten screws for ball neck to 85 Nm.

10 Cross member
11 Ball neck
12 Plate
13 Screws M12360 (micro-encapsulated)
a Holder for socket

10 Remove plugs (arrows) from fastening holes in 
vehicle side members.

11 Insert stiffening members, identified with an L or
R, in the left hand or right hand vehicle side member 
and screw down in such a manner that the stiffening 
members can still be moved.

Layout stiffening member left, 
mirror image at the right
14 Stiffening member
15 Washer A 10.5 (4 mm thick)
16 Nut M10 (self-locking)
a Rear center piece

Layout fastening screws left, 
mirror image at the right
15 Washer A 10.5 (4 mm thick)
17 Screws M10330



12 Center bores of stiffening members and body 
from below by means of a screwdriver. Then screw 
cross member of trailer coupling to stiffening 
members.

13 Tighten screws without collar to 85 Nm or screws 
with collar to 110 Nm.

10 Cross member
18 Screw M1231.5370 (micro-encapsulated)

14 Tighten self-locking nuts of screw connection 
stiffening member/body left and right in rear passenger
compartment to 43 Nm.

14 Stiffening member
15 Washer A 10.5 (4 mm thick)
16 Nut M10 (self-locking)
a Rear center piece

15 Fasten auxiliary harness to cross member.

16 Pull rubber grommet on auxiliary harness.

20 Cable strap
21 Rubber grommet
X58 Socket without housing

17 Connect auxiliary harness to socket as follows:



Connection 7-pin socket

1) Connect only if the trailer has a fog tail lamp. Otherwise, 
insulate line and lace back.

Terminal Line
58 L gray
58 R gray/red
54 black/red
54 g gray/green 1) 

(fog tail lamp)
L black/white
R black/green
31 brown

Connection 13-pin socket

Terminal Line mm2
1 black/white 0.75
2 gray/green 0.75
3 brown 0.75
4 black/green 0.75
5 gray/red 0.75
6 black/red 0.75
7 gray 0.75
9 red/black 2.5
13 brown 2.5

18 Screw socket to holder.

22 Screw B4.8332
X58 Socket



19 Glue label (arrow) on loading edge.

20 Glue label (arrow) to rear wall door.

21 Reinstall or fasten all removed parts.

22 Connect ground line to battery.

23 Test electrical system for function.

24 With removable ball neck, press covering cap 
(arrow) on ball neck mount and place pocket with ball 
neck into vehicle.

25 On model 124.190 with air-conditioner or 
temperature control the front section of the noise 
capsule or the underfloor protection must be replaced 
with a version with ventilation slits (arrows).

a Noise capsule, front section with ventilation slits



b Underfloor protection with ventilation slits

E. Wiring diagrams

 



Wiring diagram with 7-pin socket for vehicles up to approx. 07/86 without constant current line terminal 3

Continued on next page

A1 Instrument cluster
A1e18 Checkup, trailer ccoupling
E3 Tail lamp unit left
E3e1 Flasher 
E3e2 Tail lamp/parking lamp
E3e3 Back-up lamp
E3e4 Stop lamp
E3e5 Fog tail lamp
E4 Tail lamp unit right

E4e1 Flasher 
E4e2 Tail lamp/parking lamp
E4e3 Back-up lamp
E4e4 Stop lamp
F1 Fuse and relay box
F1-3 Fuse 3, terminal 58 R
F1-5 Fuse 5, terminal 15
F1-8 Fuse 8, terminal 58 L
F1-9 Fuse 9, terminal 30

Continued from previous page
X52 Plug connection trailer coupling
X57/1 Plug connection tail lamp unit left/

trailer coupling
X57/2 Plug connection tail lamp unit right/

trailer coupling
X58 Socket trailer coupling (connect terminal 54 g only if 

trailer has a fog tail lamp)

N7 Lamp monitoring unit
N28 Control unit trailer flasher
S4 Combination switch
S9 Stop lamp switch
W1 Main ground (behind instrument cluster)
W6 Ground, trunk wheelhouse left
W7 Ground, trunk wheelhouse right
X18 Plug connection tail lamp harness
X20 Plug connection stop lamp switch

Wiring diagram with 7-pin socket for vehicles starting approx. 08/86 without constant current line terminal 30
S4 Combination switch
S9 Stop lamp switch
W6 Ground, trunk wheelhouse left
W7 Ground, trunk wheelhouse right 
X18 Plug connection tail lamp harness
X20 Plug connection stop lamp switch
X52 Plug connection trailer coupling
X57/1 Plug connection tail lamp unit left/

trailer coupling
X57/2 Plug connection tail lamp unit right/

trailer coupling
X58 Socket trailer coupling

(connect terminal 54 g only if trailer 
has a fog tail lamp)

X63 Plug connection steering harness

E3 Tail lamp unit, left
E3e1 Flasher (turn signal)
E3e2 Tail lamp unit /parking lamp
E3e3 Back-up lamp
E3e4 Stop lamp
E3e5 Fog tail lamp
E4 Tail lamp unit, right
E4e1 Flasher (turn signal)
E4e2 Tail lamp unit /parking lamp
E4e3 Back-up lamp
E4e4 Stop lamp
F1 Fuse and relay box
F1-3 Fuse 3, terminal 58 R
F1-5 Fuse 5, terminal 15
F1-8 Fuse 8, terminal 58 L
N7 Lamp checkup unit
N10/2 Combination relay (flasher (turn signal) with trailer 

checkup, heatable rear window, wiper motor)
N28/1 Trailer monitoring control unit

Joe Knight
Note
R/S intermediate connector:
Used spots appear to be 2-6.  Insert intermediate pin/bush into vacant position 3 in the intermediate connector that is open at that position, leaving position 2 open.



Wiring diagram with 13-pin socket for all vehicles with constant current line terminal 30
N10/2 Combination relay (flasher with trailer checkup,

heatable rear window, wiper motor)
N28/1 Trailer monitoring control unit
S4 Combination switch
S9 Stop lamp switch
W6 Ground, trunk wheelhouse left 
W7 Ground, trunk wheelhouse right
X4 Line connector terminal 30, fuse and relay box/

passenger compartment 2-pole
X18 Plug connection tail lamp harness
X20 Plug connection stop lamp switch
X52 Plug connection trailer coupling
X57/1 Plug connection tail lamp unit left/

trailer coupling
X57/2 Plug connection tail lamp unit right/

trailer coupling
X58 Socket trailer coupling

E3 Tail lamp unit, left
E3e1 Flasher
E3e2 Tail lamp/parking lamp
E3e3 Back-up lamp
E3e4 Stop lamp
E3e5 fog tail lamp
E4 Tail lamp unit, right
E4e1 Flasher
E4e2 Tail lamp/parking lamp
E4e3 Back-up lamp
E4e4 Stop lamp
F1 Fuse and relay box
F1-3 Fuse 3, terminal 58 R
F1-5 Fuse 5, terminal 15
F1-8 Fuse 8, terminal 58 L
F22/1 Auxiliary fuse holder, 

trailer coupling, seat heater
N7 Lamp monitoring unit

F. Parts ordering note

Parts required for installation are shown in the following spare parts data:

Designation Parts Group or SA
Scope of delivery for trailer coupling, mechanical
Scope of delivery for ball head (with removable ball neck only)
Scope of delivery for trailer coupling, electrical1)
Adapter for 13-pole trailer socket - 7-pole trailer plug2)

SA 11.329

Noise capsule, front section3)
Underfloor protection4)

52
SA 11.373



1) Optionally with 7-pin socket without constant current wire or 13-pin socket and constant current wire
2) Customer request only
3) Only for models 124.190 with air-conditioner or temperature control (without underfloor protection)
4) Only for models 124.190 with air-conditioner or temperature control (with underfloor protection)




